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Applicability of the Census
Case in Estonian Personal

Data Protection Law
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1. Reasons for questioning
the Estonian doctrine
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2. The census case
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2.1. Facts and background on the case
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2.2. The right to informational self-determination
2.2.1. The basis of articles 2 (1) and 1 (1) of the German Constitution
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2.2.2. The basis of the Estonian Constitution
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2.3. The reasoning of the court
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2.4. Transformation of the case
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3. Obstacles to direct application
of the census case under Estonian law
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3.1. Scope of application of the reasoning
in private and public processing

3.1.1. Undefined area of privacy
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3.1.2. Undefined area of processing
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3.2. Alternative solutions to modern problems
D4�
��������������
��������������

����������
��
�����
��
������������������	�������������������������������

���

�
�����
�����
���� U���W� 
������ �����������E��(����3�
����
��
��
�		������� ���� ���
���������0����6�M&&

=����
��������	������� �
� ��
������� �����
������ ������ ��	��
��� �
� ��������� �����
�� ��
�������������� ��� ��
�����
�� ������ �
� �������������� �����
���
�� ��� ��� �����
�� ��� �������
� ��� �������� ����
��������������� ���
�������������
��
�������������������

C�������	���������	���
���������	��
����������������������������
����
�����������	��������������������������
��
	�����
���������M&"�)�������������
������������������������������������������
�������������
����������

��	���������
�����������	����

���������/���=����������������������������	�����������������������
��������
��������
���
�������
����������������������

����������������������������������������������������
����������
�����
���������	����

������������������������
�������	�����
�

(�
����/����
�������
����������
����������������������
�
����	��
����������
������������
�
�������������

�
��	��
��������������	����

����������
�����
���
��)������������
����	����

������������

����
���������
	��	�
�
�����������������������
�����
��
������
���������������������
�����=�����
�
�������������������������	�
�������������������������
�������
�
�
�����
���
�����������������
����
	�����������
������
�

3.3. Different public and different interest
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3.4. Leads for interpretation in the census case
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4. Conclusions and proposed structure
of analysis
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